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All questions are compulsory.
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This question paper consists of 30 questions divided into f(llr sectipns A, B. C

and D. Section A contains 10 questions of 1 mark each, Se

ion B ¢ontains 5

questions of 2 marks each, Section C contains 10 questionsfof 3 marks cach

and Section D contains 5 questions of 6 marks each.
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Only sketches are to be given in the answers of constructiof.
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Answers of the questions must be in the context of the instfuctions|given

therein.
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Do all rough work only on the last pages of the question-cym answier booklet

and nowhere else.
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SECTION- A
Question Numbers 1 to 10 carry 01 mark each.
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Express 140 as a product of its Prime factors.
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For some polynomials P(x). find the number of zeroes of P[x) from the Graph

of Y=P(x).
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Check whether x? - 2x = (-2)(3 — x) is a quadratic equation

HAter ferapitare  (Evaluate) -
cot25°
tan 65"

FATAT Aot 6,9,12,15............ @ fou ad 3iaz s
Write the common difference of an AP : 6.9.12.15
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Write the area of quadrant of circle of diameter d.
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In given figure DE || BC, find EC.
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How many points a tangent to a circle intersects ?
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The probability of an event that is certain to happen is -
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Name the ogive given below. Y - 3re1(axis)
A

b & T STEl |

o1 not

S
Al
4

Cls o

0 e 3ERman So ¢

(Upper limits)

IJus—- B
U9 HSHAT 11 A 15 dhb UAb 02 3ihl @bl &1

SECTION-B
Question Numbers 11 to 15 carry 02 marks each.
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Find LCM of 6 and 20 by the prime factorization method.
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Find a quadratic polynomial in which the sum and product
and 2 respectively.
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In fig. OA.OB=0C.OD 0

Show that z4=-C and ZB=,D
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Given SecH:% Calculate SinA.
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Prove that the lengths of tangents drawn from an external p
equal.

FHus—- C

sl HAWAT 16 A 25 ddb URAPB 03 3ipT bl 2

SECTION-C
Question Numbers 16 to 25 carry 03 marks each.
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Use Euclid’s division algorithm to find the HCF of 867 and
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Prove that +/5 is irrational number.
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(Solve by Graphical Method)

y = 2x-2,

y = 4x-4
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The 17* term of an A.P exceeds its 10" term by 7. Find thg
difference.
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In the sum of the first 14 term of an A.P. is 1050 and its firs
the 20™ term.

R1eg asifste (Prove that) ¢

1 +sin 4

—— =Sec A+tan 4
1 —sin A
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Find the point on the x-axis which is equidistant from (2, -

3F Rig @ fordenas sa @itz o [igat (-1, 7)
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Find the co-ordinates of the point which divides the join of
in the ratio 2:3 .
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-1, 7)dnd (4. -3)

Kar #rer sita difsie afe &g A2, 3), B4, K) 3t §(6. -3)[=Rsh 21
Find the value of K if the points A(2, 3), B(4, K) and C(6, ) are cpllinear.
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Draw a triangle ABC with side BC= 6ecm, AB= 5cm arljl
construct a triangle whose sides are % of the corresp
triangle ABC.
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ZABC|=60"., Then
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Construct a tangent to a circle of radius 4 cm from a point
circle of radius 6¢m.
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A bag contains a red ball, a blue ball and a yellow ball, all fhe balls being of

the same size. Kritika takes out a ball from the bag withou

looking into it.

What is the probability that she take out the (i) yellow ballf? (ii) red ball ?

(111) not blue ball ?
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A chord of a circle of radius 10cm subtends a right angle 4t
the area of minor segment (use n= 3.14)

the centre. Find
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AB and CD are respectively arcs of two concentric circles d
7cm at centre o. If #2408 =30, find the area of the shaded feg
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SECTION-D
Question Numbers 26 to 30 carry 06 marks each.
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Find out discriminant, nature of roots and root, using binorgial formula of the
quadratic equation 2x?*-6x+3=0.
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Find two consecutive positive integers, sum of whose squaf
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A 1.5m tall boy is standing at some distance from a 30m tafll building. The

angle of elevations from his eyes to the top of the buildingfincreases from 30"
and 60" as he walks towards the building. Find the the distdnce he [walked

towards the building.

O

3rrar (OR)

T S0m L Ass B aral 30T ITHA—ATHA AHATF cialy arer ar
T
3]

FA O gU &1 ol @ Tl B AN AsH B UD [dig A | HHT B
BT @ IJeerrer o waer: 600 3N 3002wt B ais 3
el A Rig @& g Sia BHifSU |
The poles of equal heights are standing opposite each othe} on either side of
the road. which is 80m wide from a point between them oy the road. the
angles of the top of the poles are 60" and 30°, respectively] Find the height of
the poles and the distances of the point from the poles.
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Prove that in a right angle triangle, the square of the hypofenuse i$ equal to the
sum of the square of the other two sides.
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Find the mean of the following data.
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A solid in the shape of a cone standing on a hemisphere Wi
being equal to 1em and the height of the cone is equal to
volume of the solid in terms of r.
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A fez, the cap used by the Turks, is shaped like the frustuln of a

radius on the open side is 10 ¢m. radius at the upper base id
height is 15 ¢cm, Find the area of material used for making it
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